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Section A
Long Ansrver Questious.
Atternpt any TWO questions. 

[2 x 10 = 201

1. Wllat is inter-process comrnttnication? Consider the follorving processes with their a*ival times
and burst tintes:

Process Arlival'Iine
0 4

P2 I J
P3 2 7
P4 J 2

Calculate the average u'aiting tiine and average turnaround tirne fcr FCFS and shoftest job.

[2+8]

Disct-lss the lbur llecessary conditions for a deadlock to occur apd explain how eac6 condition
contributes to the occurence ofdeadiock. Explain horv deadlock should be handled. [5+5]

3. \\'hat is virtual melroty and rlty is it irnportant in modern operatirrg systenr. Explain the
of paging.

concept

Is+s]
Section B

Short Answer Questions.
Attempt any EIGHT questions. [8x5=40]

4. What is a s}'stem call irr an operating system? Describe the process of handling systern calls and
the role of system progra_ms in mairaging them. [1+4]

5. Define the concept of threads. Compare and contrast threacls and processes. Il +4]

6. Explain the concept of a resource allocation graptr. Horv is it Lrsed to detect deadlock in a s!stern
with nrultiple resources? 

1f i+1

7. Explain the Dlv4A operation and horv does it improve the sl,stem performance t5]

8. Describe the different file access nretl-iods. Conipare sequential arrd direct access methods.

[2.s+2.s)9. Assunte the disk has 200 tracks (numbered fi'orn 0 to 199). The disk head is initially positionecl at
100, and r've have a sequence of requests fortracks inthe follou,ing order: 55, 5g. 3-9, 1g, 90, 160,
150, 3B calculate the seek tinre for the ciisk scheduling algorithm FCFS and SCAN. t5l

2

IOST,TU

Br-rrst Time
P1
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10. Consider the page references 3,2.1,5,4,2,1, 3, 5,2 find the nurnber of page fault using Li(L;
and optimal page repiacement algorithrn r.vith page frames? t5:l

li. Whal are the tnerits and denterits o1'contiguor"rs flle aliocation? llou,it differs from linkeci 1;:;t

rllocatiorr. t? s+? sl

12. Write short notes 0u:

a. Kernel moduies ir-r Linux.
b. Sernaphore.

[2x2.s:51
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